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QUESTION ) (KTK 03) @

NS

If the quadratic polynomial f(x) = (a — 3)x% — 2ax + 3a — 7 ranges from [—1, ) for
every X € R, then the value of a lies in
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QUESTION )

=3 ¢ ("r")
Find the values of a so that the equation x? + (3 - 2a)x + a = 0 has exactly one root in

@ LA (b) [-1,2] )
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QUESTION ) ‘\]/ A\ \} \%}L \}é\/ '

Find the values of a so that the equation x2 + (3 - 2a)x + a = 0 has exactly one root in

(a) (-1, 2) (b)  [-1,2]
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QUESTION ) (l T JE:) @

Let f(x) = x* + ax+ b and g(x) = x? + cx + d be two quadratic polynomial with real

coefficients and satisfy ac = 2(b + d). Then which of the following is(are) correct?
NN~ N~

-f(x)__ x*+ax+b
@ Exactly one of either f(x) = 0 or g(x) = 0 must have real roots. D,=a*yp

e,' // Atleast one of either f(x) = 0 or g(x) = 0 must have real roots. a(x)- X*+cx +d
D, = ~ i

@ Both f(x) = 0 and g(x) = 0 must have real roots. DADd = F+A=\y U,,.\_d)
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‘ Both f(x) = 0 and g(x) = 0 must have imaginary roots. =
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The polynomial (ax* + bx + ¢)(ax® — dx — ¢); ac # 0 has
Four real zeros h (%) =<QK‘+M+C) (ax*-dx—-<)
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QUESTION )

Show that in the equation, x* — 3xy + 2y — 2x — 3y — 35 = 0, for every real value of x
there is a real value of y, and for every value of y there is a real value of x.
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QUESTION ) @

If the equation x* + 16y% — 3x + 2 = 0 is satisfied by real values of x and y then prove

thatl1 <x<2and-1/8<y<1/8. N
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The values of k, for which the equation x* + 2(k — 1)x + k +5 = 0 possess atleast one

positive root, are Caseli) case(u )
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QUESTION )

Find 'a’ for which the inequality (a® + 3)x? + (vV5a + 3)x — % < 0 is satisfied for atleast

one real x.
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QUESTION ) (KTK 04)

ax?+2(a+1)x+9a+4 T
2 8% t33 is always negative.
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